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No. of Questions : 100

gyt S HET : 100
Time : 3% Hours Full Maris : 300
1
w25 wod quriE - 300

Note : (1} This question beoklet contains 100 (hundred) questions in all
(30 in Section - A and 70 in Section - B]. Attempt as many
questions as you can. Each question carries 3 (three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for cach unattempted question.

TH Se-giEE d oger 100 (§1) w9 ¥ (@we- o F 30 4
vs-q # 70 ) sf@ium gedl @ vt BLA Bl AT HE
qﬁmnﬂagiﬂﬂ) el ®1 & HEH AT IOC B fow @@
3% Frer | T ST 99 1 Wi T AT

{2) If more than one allernative answers seem (o be approximate (o
the correct answer, choose the closest one.

at= umpites Jafas 397 981 397 & e ydia 21, a1 Fehean
HE 39T 2
SECTION - A
GIUS -3

01. Teaching is often considered as a suitable profession for women
because they are :

(1) more skilled
(2} more careful
(3) working systematically -

(4} more patient and making use of awn aptitude

3 P.T.O.
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03.

RIETT Y 7g: Afgansd & B o I9gE ™ qET ST ¢ i
a

(1) otftres Serergel S B

(2) ofires "EuH § & o ¥

(3] FHAEE TT H HE HAl §

(4) orfm & & W ool afeemEr @ IuEET w @

In modern days teaching is considered as a profession of poor facilities
and social status. As such, it fails to attract !

(1) Male candidates "

12) Qualified candidates

(3) Candidates from different states
(4) Talented and Creative Candidates

FTYFH I H, mwwtﬁaﬁmﬂwmﬁﬁﬁmww
qRafy areT sw@Ed | T8 STEHd TR &

(1) Wmﬁﬁﬂﬁaﬂmﬁﬂmﬁ

(2) drg areafdgt & st @ &

(3) Tfye gt | sr=affat = smefda s #

(4) gftramar A gemshia swaftat &t b & |

In democratic setup, teaching is a process supposed to be dominated
and controlled by :

(1} Teachers

(2} Government

(3} Learners

{4) Administrators/Management

gomenteaa qft@sr #, 9w "ET wmar & @5 feerer wew ol oftear B
forad gumer of Fa=or B =nfeu -

(1) TRt i (2) T{HT W
(3)  StfETHERTTST @ (4) HMTEH SNT TEET F
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In.these days of informational communication technology, teaching
is considered as a process of

{1} Communication only (2) Interaction only
(3) Skillful activities only (4) Skillful communication

T FUYOT aFHH B 79 T A, B f ow R sfewr @ ey
¥ @ s B R

(1) | q= &) (2) S=afpar |51 &
(3) FHuwaryel Frrwerg = & (4) FErerrgel 9o @

If Values are not taught, but caught’, then how to inculcate values
among our future Citizens ?

(1) Through teaching

(2) Through proper guidance and counselling
(3) Through strict discipline

(4) By following values

At ‘gew Hr fammEr 7€ afs weor far onar ¥, o ey R
ARt & g & s SR R om wear 7
(1) Py & (2) I9ga Frdee oy uwmsl ary

(3) AT IIEA BT (4) T B STTHLOT A

With enhancement in the duration of teacher education programmes,
availability of trained teachers will be decreased. To resolve the issue,
it is required that :

{1) Strict selection criteria is to be relaxed

(2) Pay and facilities for teachers are to be enhanced

(3) Retirement age of teachers is to be increased

(4] Retired teachers are to be reemployed again

5 P.T.O,
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10.

HeqTgeF (9N ik @l Haly ggd & wmreer, afeide steagent
;ﬁng’:lTﬂﬁHfﬁq a1l | g EUET | B A & faru 4B STIIaH

(1) AT g "EEvel &l g2l S

(2) IR AT AT el giaud "o Sy
(3) srmmE & o far Fafa @ oeny werd omg
(4) @ar Frga srenwst @ gE: dar Fgia & oy

In a teacher dominated classroom, students used to become :

(1) Active Learners (2] Passive Learners

{3} Competent Learners (4} Self dependent Learners
T ATATYE BT /UUF AT T, BT 9 &9 I &

(1) @afem arfermy =Ar (2) SRR STepTaeET

(3) =o1 erfemEer (4)  sTeEtTT srfernTERat

Il teaching i1s considered as a tripolar process, then teacher and
students are surely the two poles. Which one of the following is its
thwrd pole ?

(1} Currncalum {2) Time table (3) Principal (4} Parents
“fsmma%‘rqm“ﬁ-?ﬂﬁwugm & Wy H Ay G D I REE |
%ﬂawn;qaemﬁf _aga.%ﬁtaﬁﬁaaﬁ?%ﬁqqmﬁr?ﬂﬂﬂ
gd e

(1) grZaeERH (2} HAG-ARON (3) quWEE (4) ST

Acquisition of skills is basically concerned with the process of :
(1} Teaching (2) Training

(3) Instruction (4) Orientation

IO T8Y, geid: wealug d#ar ¥

(1) faerr gfEar & (2) wigreyor oftpr &

(3) & YA | (4) e FEes afea |

It philosophy is considered as the brain of education, psychology may
be considered as its ;

(1) Heart |2) Hand (3) Body (4) Spirit
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aﬁa&hamzﬁtfmmm%qﬁﬂmﬁﬁmﬂmﬁﬁmm)ﬁr
qﬁﬁﬁﬁiﬁlm:

(1) &&= W1 5 g% B (2) BT AFET ST Eehar B

(3) oI AFT ST & B (4)  SATHT T AT qHer

In the given number series |, select the appropriate pair of numbers
for the gaps indicated :
Eqmﬁwﬁvﬁﬁ,ﬁﬁwﬁwmﬁ%l%rqmgaﬁﬁwww
=i+ ﬂ%ﬁﬂ'l'! r

2,4,12,24,72, .....2...7
(1) 144, 432 (2) 144,288
(3] 144,420 (4) 140, 400

If the direction signs are changed in such a way that south-east may
become north, north-east, west, etc., then the direction of west will
become

(1] South-west [(2) South-east

(3) North-cast {4) North-west

AR Rl B @ ae | T R W @& afo-gd sz @ o,
FY-9d ofvem @1 sra sefe @) ofyam Rer @ o -

(1) =fEor-qiyes (2) =fEyor-ge
(3) IHT-gd (4) IET-giFEy
If the sign of + is indicaling +, + is to—, ~ is to x and * is to + then

find out the value of :

ﬂﬁi"!ﬁﬁm—: ﬁ,+ﬂw~ﬁ.—ﬁﬂﬁxﬁ§l.ﬁﬁ?ﬂiﬁrﬂﬁf
+ 8 @ Fr= mr owm e #Hiftm

48+16 + 4-2x8+2-)
(1) 3 (2} 9 3) -1 (4) -2

7 P.T.O.
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15.

16.

17.

18.

Which of the following words is not made of the given word -
INVALUABLE ?

;ﬁlﬁ—mﬁﬂam-mmmwmlwuummﬁaﬁw

(1) UNABLE (2) VALUE (3) VALVE (4) UNLABEL

If after 20™ of a month, the fourth day was Saturday, then ¢n the 3™
of that month which was the day ?

(1) Sunday (2) Saturday (3) Friday (4) Monday
afx faef) gE & 20 arfa $ & e B ofEr @ @ ar 39
T 3 arig # Fe-ar @9 T g 7

(1) IR (2) ofER  (3) PHAX (4) EwER

Find out the appropriate set of Letters in the place of question mark-

() :
g Fed (7) & T 9€ SN SIWY HESIT W AT I9gE B, IE

ST
HPME : GRJH :: QBDL : ?
(1) PDAO (2) PODA (3} OCAO (4) PODQ

If A stands for +, Q for -, R for x and S for s+, then find out the value of
the following :

afy A& 9T + F e, Q & IuEET - F g, R IO « F
frT @91 S &1 IUg . & frar o & O Prsr @ 9e @
Hifoa

BOSI6R6Q20A 10

(1) 10 (2} 20 (3) 0 (4) 15

If Ram is taller than Shyam but shorter than Mohit, Mohit is taller
than shyam, Prem is taller than Mohit but shorter than Rakesh, then
who is shortest in height among all ?

(1) Ram (2) Shyam (3] Mohit {4) Prem



19.

15U/95/6(1)

gft 7rq, g | o 2 AfET it @ w § o9y &, mte am
§ orar B, O Aifga F o B AR o9 4 o F oer B @y o
|99 5T § oy A9 8 7

(1) TH (2} ™M (3) .ﬁ'lﬁ'ﬂ' 4y 37

Find out the missing number :

< den s oA Hieg

8 | 18 26

10 2 36

18 | 24 | 42

1) 6 (2) 24 (3) 26 @) 8

In the given diagram, number of students Learning Science, arts and
Commerce is indicated. Find out how many students learns commerce
only, when some students are learning two or all the three subjects.

(1) 4 (2 24 (3) 10 4) 14

» Science

6%& rs
O Ap—

- 9 P.T.O.
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o o e § 99 eEr Y de B e ¥ ot BEm, g ein
wd fawg g ¥ ok g e & a1 9 'cﬁ#rfaanvﬁqaﬁir
ar 39 Bl W WA gasU o $ad HHd @ a8t |

JRCHIE]

&=

(1) 4 - (2) 24 (3] 10 (4) 14

To develop feeling of national integration among student is an
objectives which is termed as ;

(1) Educational objective (2) Teaching abjective

{3) Specific objective (4) National objective

MﬂTmﬁmﬂmqﬂmw@wtﬁ@m

ST Jen :

(1) IfEw FRem (2) Frm SRy

(3) Rfrz ‘e (@) U R

DIET was established in the year of : :

(1] 1994 (2) 1987 (3) 2001 (4) 1990
D[m(ﬁmﬁa)aﬁmytﬁ |

(1) 1994 7 # () 1987 |

(3} 200199 # (4) 1990 &g #

In which year UGC became a statutory body ? 0
ﬁ?ﬂﬁmmmﬂ@ ot &) <% W@ wer

(1) 1654 (2) 1956 (3) 1957 (4) 1961

10
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Education in ancient India was mainly based upon :

{1} Vedic Text (2) Teacher

(3} Student , (4) Teaching technique
g e H e gee: aafya e

(1) 3Rep grggaw] W (2) SAETH T

(3) =" g7 g | (4) TR TFAE 97
Educatipn is well known as a process which is having :

(1] Dynamic nature (2) Ancient nature

(3] Static nature (4) Knowledge criented nature
fren gt om g & FeT e 8, 98 ® o

(1) AT e (2) oreh= gepfer

(3) =T wglr : | (4) W TR /@ Hepfer
‘Library is the heart of a school’, It was stated by :

(1} John Dewecy (2) Johnson

{3} Kilpatrick (4) Roussecau

ey fordlt fameT @ gEg BT 8¢ 9B &Ud f&Rar T
(1} = i g (2) oift9ds g1

(3) Fredfys am (4) =& A

“Guidance programme is considered 'as a part of school programme.

For right selection of curriculum and course content which type of
‘guidance is required ?

(1) Vocational (2) Personal (3) Educational (4) Social
ferdsr aprizpd o Rl T 1 O Siw HIFT ST 8 | ST
UieEss ST TeFae] W 994 & & g PR g # Frdse @
SEeyEHAr el 8 ?

(1) =gefays  (2) @fRrm (3) Al (4) @MATSEE

il P.T.O.
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Recently, teaching is well known as teaching-learning process because
its foundation is basically based upon :

(1) Philosophical theory

(2) Psychological Principles

(3) Political nature of the country

(4) Sociological concepts

ST, mﬁﬁwmm%mﬂmmw
T § i e gwaE AR fFvdefe @

(1) =wifs e @ (2) FATTS F-Wﬂ g

(3) Earqﬁnmﬁmwﬁrﬂ (4) mmmwﬁm

When ‘Navodaya Vidyalaya Samiti’ was registered ?

{1) 28 February 1986 (2) 28 February1985
(3) 28 March 1987 (4) 28 Pebruary 1984
‘T R Gff Y we oo Rear mar 7

(1) - 28 weadl, 1986 (2) 28 wYgd, 1985

(3) 28 AT, 1987 (4) 28%WT{, 1984

. The Montessori Schools insist on °

(1) creative teaching

(2) the principle of sense training
(3) complete discipline

{4) equipped schoal buildings
AtRad Reea a9 ger s ¥
(1) o= Rrer gy

(2) wFEg ufdmr & g oy

3) gt srwmEE 9T
(4) |eE wu= R sae 91

13
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SECTION - B
ToE-q

Given marginal propensity to consume as 0.75, the multiplier will
be : -

afy derr I @ mgRt 0.75 ¥ Y TS @ g @

(1) 0.25 2) 25 (3) 25 4) 4

-
“Inflation is unfair and Deflation on is mappmpnatc, out of these,
deflatioh is much worse.” Who propounded this statement ?

(1) Keynes (2) Friedman
(3) Fisher H} Roberstson
WWEWWWW E&lﬁfﬁﬂm'
dge oftes g0 ¥ 1 9% waw Regwr B .
(1) #Hra 2 e (3) ﬁ:sarr (4) ﬂaégm

Increase in bank’s llql.iirlity ratio fund leads to :

(1) Increase in money supply '

(2) Money supply increases fast and declines later
(3) Decrease in money supply

(4) Money supply decreases first and increases later

% & o v W ¥ ghw B aX -
(1) 3&T & gfef # gie af

(2 T&T @ off ged@ @@ oeavmT ®H
(@ T&T @ gRf Hw &l

(4) H&7 W gf g HH A qeovEre @@

13 ' P.1.0.
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38,

36.

What is money supply M, ?

{1} Note + Coins

(2} Note + Coins + Demand Depasit

(3] Note + Coins + Demand deposit + Post office savings.

(4) Note + Coins + Post office savings

oET i M, Fm R 7 BE
) e o+ o . H
(2) e + R+ wiT s )
(3) e + Ed + /AT oA + ETRRT @) wew OfeEn
(4) A= + S + T S gaa afErn

Risk bearing theory of profit was given by the economist :

(1) Schumpeter (2) Knight (3) Holley (4) Clark
AifeH qgs H3 F o = e e o weog ?
(1) fex (2) == (3) & (4) @I

Perfect specialization in production may be attained by a nation in
|
the following conditions : :

(1) Constant cost situation. 2) Decreasing cost situation.
(3) Increasing cost situation. (4) Zero cost situation.

I # RS Qe gl R Fre Rt & g o o
(1) e |9ar & Rera &)

(2) BETEHAF P @ fewer 7

(3) gl @ # Rere 7

(4) 3 =TT & fRae A7

14
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On the basis of labour division, a nation should produce that
commodity whose production cost is :

(1) Minimum (2} Maximum (3) Stable (4) Zero

HH AT & AU 9T U R B I q6Y B I9EA BT GifEy
Rrad a@el IrEsT arm

(1) e e (2) SRy @
3) fex e | (4) I &

Terms of trade can be explained as :

(I} Terms of trade = Import value/Export value

(2] Terms of trade = Export value/Import value

(3) Terms of trade = Export demand/Export value
(4) Terms of trade = Import supply/Export demand

= # oot B B wesre gamar o w9 §
(1) =R o - s gea At e
(2) =R ad = Fafe g 9 g
(A) =M = Pl atrfala g0
(4) &9 od = s gid e g

The main objective of Lead Bank Scheme is :
(1) To éxtend loan to big industries '
(2) To extend loan to the agriculture sector
(3} To extend loan to cottage industries

(4) How does planning and cantmlhng of the credit pﬂllcj? by leading
bank in a district

15 P.T.O.
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41.

ity ¥ o e e Idvm ¥
(1) & I B |WOT HEH HN
(2) HW qF W WOT UNA HAT
(3) HAT IAF T AT T&H HEH
4) & & sl 3 oo g ARGt @ P o Fraes se

President of National Pianning Comrmission (1938) wagr'

{1} Dada Bhai Naroji (2) V.K.R.V. Rao

(3) P.C. Mahalanobis (4) Jawahar Lal Nehru
SN g (1938) @ otaw &

(1) wrEmE 33 2) NBATH @

3) @& TeeEEE (4) * SETET X TS

The concept of ‘Hindu Growth Rate’ in context of India was given by :
(1) C.N. vakil (2) Raj Krishna

(3) P.R. Brhamanand (4) Raja Chelliaha

W B ad d e @ g o # Rare e Rar
(1) .. T (@) TS e :

(3} . s (4) TIOT HEET

- Division of tax revenue in between centre and states is made on the

basis of recommendations of :

(1) Planning Commission

[2) National Development Council
{3) Finance Commission

(4) Reserve Bank

16
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%z?zrmﬂ%ﬁam—mmmﬁmﬁmﬁmmﬁﬁm
e 8

() AT STET | (2) g R aRE

3y fa=r smar (4) foort Sl -

43. When was MODVAT implemented 7

MODVAT & & @y faar mar ?
(1) 1985-86 (2} 1984-85 (3) 1986-87 (4) 1987-88

44. MR be comes zero when elasticity of demand be comes ;

(1) Greater then one (2) Equal to one
(3) Less than one " (4) Zero
+ MR 99 Brm ¥ 3R Wi A o A ¥
(1) Fd |/ siften 2) o F FOEw
(3) HE | A @) I |
45. Which one of the following is a metamorphic rock ?
(1) Basalt ' (2) Limestone
(3) Shale (4) Marble
Prefefea & @ @ et R 7P
(1) FEEE (2) WEAES (FAT TeRIR)
(3) AT (4) I
46, To which group of the Mountains does the Reckies belong ?
(1) Block Mountains (2) Folded Mountains
(3} Relict Mountains (4) Dome Mountains
ot & e age () & vder @R @ 7
(1) g geda 2) wea (afee) gda
(3) omafire gda (4) TFERATHIT T

17 PT.O.
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47.

48,

S51.

What is the percentage of oxygen in the composition nf
mosphere ?

AGIUES & doed A s @ g wfeg B 7

(1} 70% (2) 30% 3) 21% (4) 15%
Which one of the following is a region of convectional rainfall ?
(1} Equatarial (2) Mediterranean
(3] Taiga (4) Savanna
Frrdasdmaae-iaamiwan ¥ ?

(1] egeea (2) wWREEETOY
(3) &m (4) &
Highest-Salanity is found in :

(1) Berring Sea (2) Dead Sea

(3) China Sea "~ {4) Red Sea
qaifys o i owh ¥

(1) &ffr sre # (2) Wa | #

{3) & WP # (4). @ weEre
Which one of the following is a cold ocean current ?

(1) QGulf stream (2) Brazil current
(3) Canari current (4) Kurosio
Frafefem & € @9 sl swrarrd s g @ 7

(1) 7To% &m (2) =wftEr uT

(3) Hrd & . (4) FFORE

To which trophic level do the herbivorous belong ?

(1) Trophic level-1 (2) Trophic level-4.
(3] Trophic level-3 (4) Trophic level-2:

18

at
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SRTETE (amael) Sig-ig Bhg. aieer-we @ == €

(1) gmer-&e-1 (2) dEv-EIT-4 |

(3) ﬁthwvmﬂa (4) TEU-RIT-2

The atmospheric layer, in which weather phenomena are most marked
is called : '

(1) Tmpﬂp;ause (2) Troposphere

(3) Ilonosphere (4) Stratosphere

Wqﬂﬁ,mﬁﬁﬂ#aﬁmﬁmfﬁmwéﬁﬁ.

(1) &frsT &= (2) A Avsw
(3) WEHA HO= (4] FHAY HUSH

Shifting cultivation in Malaysia is called as :

(1) Chena {2) Tongya (3) Tamral (4) Ladang
Tafdrar & wETad §Y @ e § o

(1) =7 (2) @ (3) =THU (4) w&T
Which is the largest coffee pro-:iucihg': country of the wnrld ?

(1) Ethiopia , (2) PBrazil

(3) Columbia (4) Indonesia

Frva o1 waifae @ear SR w0 B B 7

(1) =i . ©(2) @i

(3) HrErEET (4) FOBAEET

When the Werld Trade Organization (W.T.0.) was formally enacted ?
(1) Jandary 1, 1995. (2] December 15, 1993

(3} April 15, 1994 (4) December 17, 1992

1 9 PlTlui
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87.

!9 L]

Rivs =TT ST (weg. A, oY) w MCE R W § @ng g ?

(1} w=ad 1, 1995 (2) RE=T 15, 1993
(3) o« 15, 1994 ' (4) RE=T 17,1092
. Which variety of coal is of highest rank ?

(1) Lignite (2) Anthracite

{3) Peat {(4) Bituminous

IR B -G B qwd SN Ao H e ¥ ?
1) RermEE (2) THHEEE

(@) e 4) EREE

What is the correct total length of the land frontier of India ?
(1) 16,500 km. (2) 14,700 km.

(3) 15,200 km. (4) 18,400 km.

e F g e d@ oo ol e\ ¥ 7

(1) 16,500 s, (2) 14,700 .

(3) 15,200 Rt (4) 18,400 .

Indira Gandhi Canal is regarded aa the life line of the atate of ?
(1) Punjab | (2) Rajasthan

(3) Madhya Pradesh (4) Haryana _
TP A e e g i e Yer R o &2
(1) done (2) o

(3) wHeAwRY . (4) sRETm

Under the patronship of which emperor, the Third Buddhist
Conference was held ? b

(1) Milind (2) Harshvardhag |
(3) Ashok [4}. Kanishka “ Ji-

30
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e wmre & ®@@©r § @wd e wwn g ?
(1) Mg (2) wdads
(3) o (4) wFTes

Which part of Southern India was not l:nnquc-red by Chandragupta
Maurya ? '

(1) Maharashtra (?) Kalinga
(3} Karnatak {4) Andhra

T W @ B & T aea B J o grer aft 8 o ?
(1) worrSE (2) ST (3) =S (4) TH

The title of "Parambhagvat” was adopted by :
{1} Ashoka |
(2) Chandragupta Maurya

(3] Kharwela

(4) Chandragupta Vikramaditya

“qrETTEE’’ gl I g #t off

(1) o J (2) == A A
(3) @rRAw A | 4) == Reefewy &

The most popular deity of the Tamils during the Sangam Age was ;
(1) Variha (2) Indra (3) Murugan {4) Tirumal

W g1 A ofvet W it AR d
(1 @& (2 ¥ (3) 7™ (4) Rrswer

Provincial Governor during the time of Harsha was called :
(1) Lokpal' ; (2) Prantpati
(3) Karnik (4) Pramatar
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FEFAT QIR 9 F) el A oy

(1) & a5 (2) wradfa
(3) FHNE (4) DT
64, Which Sultan got himself addressed as “Sikﬁndar-cnsaﬁi’ifz?
(1) Balban (2) Mahd. Bin Tuglad
(3] Allauddin Khlljl (4) Sikandar Lodi .
mgﬁm%mﬁmﬁr“ﬁlﬁtﬂﬂﬁ”waﬁmﬁﬁ
HLaEr ?
(1) @eE _ (2) wrewE fam g

65. The term ‘cosher’ during the Sultanat period meant :
(1) Land tax collected from non-Muslims.
(2) Land tax collected from Muslims.
(3] Religious tax. .
(4] 1/5 part of the looted property,
geaad @ § Ie | aned e
(1) T guemE 9 oo e gfa e
(2) gaEemEr /@ oy o e 'lj;Fh hY
(3) e HT
(4) FE @ gy & 1/5 "

66. Whose name out of the following is associated with the ‘sanak’ sect ?

(1) Madhavacharya ) (2) Ramanuj i

(3) Nimbark  (4) Kabir |
Frafefiga & @ e 9w ‘@7’ e § gafua 8 7
(1) =reErErE (2) -TEEE o B

3 = (4) T

22
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70.

15U/95/6ji)

Who divided the Mughal empire into Provinces for the first time ?

(1} Babur (2) Akbar
(3] Shahjehan (4} Jehangir |
T WG @ grait & R qeet @ e Rar er ?
(1) amy (2) AT
(3)  ETET (4) “ERiT
« Who was the spiritual guru of Shivaji ?
{1} Dada Kon deva {2) Eknath
(3) Samarth Guru Ramdas (4) Bamanpundit
Rt & smemforms 15 & 4 2
(1) amaT Fer By | (2) WY
(3) Y I UHEE (4) = Ofeg
‘Glorious Revolution' was an event which occurred in ?
(1) France (2) Austria
(3) Russia (4) England
‘IET e’ R W & gesr o ?
(1) Wy | (2) omiRgar
(3) == (4) &=

The right of Nizamat’ meant ;

(1] Protection of territory/province
(2) Right to administer

(3) Revenue collection -

(4] Right to impose new taxes

‘o’ & sfese § 9aew a7
(1) &=/97 & g
(2) wemEa @1 AfeEp

(3) TR Fgen
(4) ¢ FU F T F AR
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71. Discussion about the queen named Marie Antoinette figures in the.

73.

73.

74.

history of :

(1} England (2) Russia

{3) France (4) Austria

T oRrAe A TR A wet e W B gReem & weabea # 7
(1) =iz (2) &9 '
(3) wiE - (4) SR

Who was the main supporter of the ‘widow remarriage’ movement
which took place in the mid 19" century Bengal ?

(1) Ram Mohan Roy (2) Ishwar Chandra Vidyasagar
(3] Devendranath Tagore |4} Rama Bai

=it srelt @ we &, dmer A gu Rwa gefdwE SReE @
oy gRdE B & 7 &

(1) I Tqeq T (2) a7 == REmar

(3] FI= A MY (4) AT W

Who said that political science begins with the state and ends with
the state ?

(1)  Gettell (2) Ashirvatham

(3) Garner {4) Laski

ar e e B ToTIRY Ramer g orow o & drer 3 ol o
T~ § BT B 7

(1) R (2) enfiates

(3) MR (4) SnEnH

Who among the following thinks that sovereignty resides in one
man ?

(1} Locke (2) Roussean
{3} Austion (4) Green

[
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76.

78.

18U/95/6(i)

?T&ﬁahsﬁmmaﬁ'ﬁﬂngﬁrmﬁamqmaﬂﬁﬂ@w
[1). i (2) wEr (3) orfEs (4) T=

Who supports the view that in the origin of state there were two
contracts ?

(1) Bodin (2) Hobbes
(3) Locke (4) Rousscan

a7 fagsr ga 2 6 v 4 gafy # St % mex & 'S 22U
L LS -

(1) st (2) ®EEH (3) &lfem | (4) =l
When the Muslim League was formed ?

(1) 1903 (2) 1906 (3) 1909 (4) 1910
R w0 & TS FE e T 7

(1) 19034 (2) 1906 %  (3) 1909 (4) 1910%

In order to prepare a constitution for India, the Nehru Committee
was formed in the year :

A 2 e o d@fRum e & e e w R @ e g ay e
LA |

(1} 1927 (2) 1928 (3) 1929 (4) 1930
Who participated in all sessions of the Round Table Conference ?
(1} M.K. Gandhi (2) B.R. Ambedkar

(3} M:M. Malviya (4) Moti Lal Nehru

e weE & g9l w=l F fpae A foar o @

(1} . &. e (2) &Y. L. IAEGHT

(3) ©H. O, "EEE (4) O @ A
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79. Which one ol the following is not currectly matched ?

A B
(1) Article 15 eguality
(2] Article 29 cultural right .
(3)  Article 54 powers of the President
(4) Article 6] impeachment of the President
=1 # | =9 o gifera @ ®
E I
(1) 3=9% 15 HITHET
(2) argEBT 29 Hiwpias arfiEm
(3) TIERE 54 At # sAfae
(4) AA=BE 61 Tt weEn
80. Who one of the ollowing is a suppoarter of legal rights 2
(1] Laski (2) Mclver
(3)  Austin (1) Henry Main
[ 4 | &9 ok areph AR # o aads & 7
(1) et (2) FeErgas
(3] AT (4) B A9
81. Who divided [reedom into self-regarding and other-regarding ?
(1] Bentham (2) J.S. Mill
(3] Green (4) Marx
AT Bl [EET -l g av-mesdn qoit § fea faar ?
(1) & (2) Wo tHo fAw
(31 @+ (4) IR

26
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15U/95/6{i)

Who is the author of the book entitled “State and Revolution™ ?

(1} Marx (2] Lenin

{3} Mao (4) Gramsei

‘R uoz REYy 9% T H a@s BT & 7
(1) == (2) wfF=

(3) =ref (4) HredT

Who is known as a theorist of the super-structure ?
(1) Berlin (2) Rawls

(3) Mao (4) Gramsei
sAferca & Aaws BFE A ¥ 7

(1) =R (2) e

(3) wms (4) arHE

Who is the author of the book entitled ‘Arthashastra’ ?
(1) Kautilya (2) Manu

(3) Anstotle (4) Machivaell
‘AT’ AHE JEIF F AGH B & 7

(1) hifesg (2) 79

(3) oTTE] (4) HfepmTaet
Who one of the following is a supporter of elitist democracy ?
(1) Macpherson (2) Sartori

{3) Lowell (4) Bryse

fpey § § Ao goe= & @R @ 8 7

(1) Hrwee (2) HrEErd

(3) R 4) =TI
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87.

8%5.

The principle of “basic structure” of the Constitution was laid down in
the case :

{1} Golaknath case (2) Sajjan Sing case

{3} Keshvanand Bharati case (4} Menka Gandhi case
dfaur & e g B e @ e R g R 7
(1) T HHEA] (2) wv+ fHe g

(3] HYATA AR FEREEAT (4) FevEEr el HEREET

The transition period from childheood to adulthood is called : .

(1) Adolescence (2) Middle childhood
(3) Early childhood (4) Late childhood
SUTIET § FUACHEET H qIOTHE haerar 8

(1) Tereirreeen (2) AeTETEGTEET

(3) urifaE sEEEn (4) AT g

Fruits and vegetables products are given following certification :

(1] MPO (2) 18I (3} PFA (4] FPO

w ud giesdl & IRl i FPrafatee garefeer Rar o &
(1) oH. 9. @. " R) o, uH. ang,

(3) 1. TE. €. (4) wE. G 3.

Union of male and female sex cell is termed as :

(1) Fusion {2) Conception

(3) Mutation (4) Fixing

guy uF &t Hifdem & Hed f wer e 8o

(1) g 2) T

(3] =geI= (4) fonfareaT



91.

93.

15U/95/6(i)

Ability to act freely and independently is known as :

(1] Autonomy (2) Agression

(3] Anatomy (4] Automatic

o @0 § Hd W argar seard! 8

(1) ST (2) QA

(3) oHArERR (4) ADAfes

Stainless steel is made up of :

(1] [Iron and chromium (2) Chromium and nickel
(3) Nickel and copper (4) Nickel and zinc

e e Je Frafofeae @ a9 2

(1) gL oF Ty (2) =rEH od Mg

(3) [raher o afer (4) e og Rim

The vaccine mot included in national immunization programme is ;
(1) Polio (2) DPT

(3) Measles (4) Hepatitis B

I et wdwA # Frefefaa B Ser anfier @
(1) ferE 20 &1 & &

(3] =@ (4) BQemEfed &

AIDS spreads by :
{1) Contaminated food
(2] Contaminated blood transfusion

(3] Kissing

(4) Shaking hands

ugH e @

(1) vt 9= | (2) T i |
(3} = A (4) B e &
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94, Chikankari is a famous embroidery work of :

(1} Uttar Pradesh (2) Uttarakhand
{3) Bihar (4) Kashmir
Rl FPreifafes ot gt sfeerdt & -
(1) IET g3q (2) IS
(3) e (4) =mHIT

95. Orange colouris a:

S (1} Primary colour (2) Secondary colour
{3) Tertiary colour (4] [Intermediate colour
A TR O
(1} smafEEs ar (2) facfrges <
(3) gdrEs 1T (4) wreAfrE o

96. International women's day is celebrated on :

(1) August 15 (2) January 13
(3) March 8 (4] November 14
FHerdedta afgen Rew s=wn omen €

(1) 15 3P H (2) 137 5ad HY
[3) 8 ¥ H (4) 14 =T F

97. Full form of KVK is :

{1) Knshi Vigyan Kendra (2) Krishi Vision Kendra
(3] Krishi Vividh Kendra (4) Krishi Vayu Kendra
BA 3. gt =y B

(1) HY FEm 3= (2) Y oo Fx

(3] HH fafay 3= 4) BN Ty I
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Human milk is a poor source of :
(1) Protein () Vitamin A
(3) Iron (4) Calcium
HiTE 3o el & sge | g o
(1) ddm - (2) - R o
(3) A (4) dfearm
Soap having equal quantity of fat or oil and alkali is :
(1) All purpose soap (2) Mild soap
{(3) Neutral soap : (4) Bar soap
WA WA F G AT A g M D e AgE der © o
(1) aife 999s €9 (2) HiEeE 99
(3) =gg= €@ (4) T €g
100.The use of money for the purpose of making more money is :
(1] Saving (2) Financial management
(3] Investment (4) Compulsory saving
UT W SEE o[ erAT & fm udi seamar § o
(1) == (2) - faieT geg=
(3) fafeam (4) Afart =
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sreaféay & ferg e
(¥F@ Qifa®T & TUw JTETer g 47 747 I0T-09 & & gl w7
e di- s - age 97 B 8 fra)
¥ fiaa e & 10 e & ore & 3@ o 16 wermr § i g wieg € sl o
s¥A g2l el 81 gfiaa Jugs Tl 9R WO sHE gEa AR a-Flue @ 3 el
STYAeT FI gEd g o R |
T wae # frerr i wavr-aw & sifafres, feran o A Y gen s A
¥ 7 @
F9T-q% I R ey e )y 3 0t Wiy S 7 6 fagw &) g awe- o 0 e o
FIF FT-0F & B qrare (& oy
U ARSI AL IR-TF T HAS I99 AE0-78 5 99 F Pl s w e
IT-9F & NUW g 7 07 R Iar JpEe gty @y o frd g A9 7R g

&t & wgl-wl sravew 8wyt wer-yichey & waie way Ve @7 T aw et
a7 el

Fla THe Mo X U7 ATHETE WOW, Fygiaat w6 ¥ He woar (o vy B) aar
YPIYRAST T F{HWIE FIT Fo Yo Ao y¥ wewr 1wyt 7 aufivie ¥t srywly
it #1

Fagw WATEw # By o OvEnT w i g sy g ik Jaer Iy g Iyl
WG T WG WA W

7 - gieaet § wetwm wew & v dwieaw 3wt 73 mi §1 wniw vy & defrew aav & fig
It FT-uT w gty o & Ared Gl md gw ) avr-oy & vew g o7 R 0
v & wgev 47 & my s
mm%m%mmﬁﬁﬁﬂwﬁlﬁﬁmﬁﬁwmﬁ
W Sl TS 99 & A0 R T qE T TG /A TE

arT ¥ 1% q& & vl g Sew 3T weow T v wwar § o W fEE o & ey
77 & w4, W wwT qfew & W R v vl ge & et oty &) on wee o o
& 3R wrdih

W &1 % o - & quTE # I e §e o I-fEe & o ge
& AR &

T & ITO 9 R T Fav-0F SOET am H I &

TT T B G T A ¥ A 9@ S sl T8 v

3z #% sredff e & syifaq wwAl ® v w8, O O frvatrae av e
2% /&1, 9 REEn



